

SEMIGROUP OF LIPSCHITZ OPERATORS

YOUNG S. LEE

ABSTRACT. Lipschitzian semigroup is a semigroup of Lipschitz operators which contains C_0 semigroup and nonlinear semigroup. In this paper, we establish the canonical exponential formula of Lipschitzian semigroup from its Lie generator and the approximation theorem by Laplace transform approach to Lipschitzian semigroup.

1. Introduction

Let X and Y be Banach spaces over the field K , and let $C \subset X$ and $D \subset Y$. A function $T : C \rightarrow D$ is said to be a Lipschitz operator if there exists a constant M such that

$$\|Tx - Ty\| \leq M\|x - y\|$$

for all $x, y \in C$.

Let $Lip(C, D)$ be the space of Lipschitz operators from C to D and let the Lipschitz seminorm of $T \in Lip(C, D)$ be

$$\|T\|_{Lip} = \sup\{\|Tx - Ty\|/\|x - y\| : x, y \in C, x \neq y\}.$$

Then $(Lip(C, D), \|\cdot\|_{Lip})$ is a seminormed linear space. If T is linear, then $\|T\|_{Lip}$ is the usual operator norm of T .

Let $x_0 \in C$ and let $Lip_{x_0}(C, D) = \{T \in Lip(C, D) : Tx_0 = 0\}$. It was known in [4] that $Lip_{x_0}(C, D)$ is a Banach space.

DEFINITION 1. An operator family $\{T(t) : t \geq 0\} \subset Lip(C, C)$ is called a Lipschitzian semigroup on C if the following conditions hold.

- (i) $T(0) = I$, the identity operator on C .
- (ii) $T(t)T(s) = T(t + s)$ for $t, s \geq 0$.

Received November 17, 2006.

2000 Mathematics Subject Classification: 47H20.

Key words and phrases: Lipschitz operator, Lipschitzian semigroup, Lie generator.

This work is supported by a research grant from Seoul Women's University (2005).

(iii) For each $x \in C$, $T(t)x$ is continuous in $t \geq 0$.

The Lipschitzian semigroup $\{T(t) : t \geq 0\}$ is said to be exponentially bounded if there exist constants ω and $M \geq 1$ such that $\|T(t)\|_{Lip} \leq Me^{\omega t}$ for all $t \geq 0$.

Next we define a Lie generator of Lipschitzian semigroup (see [2]).

DEFINITION 2. The Lie generator of Lipschitzian semigroup $\{T(t) : t \geq 0\}$ is the linear operator $B : D(B) \subset Lip(C, K) \rightarrow Lip(C, K)$ consisting of all (f, g) such that $f, g \in Lip(C, K)$ and

$$g(x) = \lim_{t \rightarrow 0^+} \frac{1}{t} (f(T(t)x) - f(x))$$

for all $x \in C$.

In this paper our purpose is to develop the Laplace transform approach to a Lipschitzian semigroup. We show that the Lie generator can be represented by the Laplace transform of Lipschitzian semigroup and Lipschitzian semigroup may be recovered from its Lie generator by the canonical exponential formula. The approximation of Lipschitzian semigroups can be shown by the equicontinuity. In this paper, C is closed and a Lipschitzian semigroup is exponentially bounded.

2. Semigroup of Lipschitz operators

First we will show that $(\lambda I - B)^{-1}$ can be represented by the Laplace transform.

LEMMA 1. Let B be the Lie generator of Lipschitzian semigroup $\{T(t) : t \geq 0\}$ satisfying $\|T(t)\|_{Lip} \leq Me^{\omega t}$ for all $t \geq 0$. Suppose that x_0 is the fixed point of $\{T(t) : t \geq 0\}$, that is, $T(t)x_0 = x_0$ for all $t \geq 0$. Then for all $\lambda > \omega$,

- (i) $(\lambda I - B)^{-1}$ is a bounded linear operator on $Lip_{x_0}(C, K)$ with $\|(\lambda I - B)^{-1}\| \leq M/(\lambda - \omega)$.
- (ii) $((\lambda I - B)^{-1}f)(x) = \int_0^\infty e^{-\lambda t} f(T(t)x) dt$ for $f \in Lip_{x_0}(C, K)$ and $x \in C$.
- (iii) For $f \in D(B) \cap Lip_{x_0}(C, K)$, $\lim_{\lambda \rightarrow \infty} \lambda(\lambda I - B)^{-1}f = f$.

Proof. Let $\lambda > \omega$. Since $\{T(t) : t \geq 0\}$ has a fixed point x_0 and $f \in Lip_{x_0}(C, K)$, we can define a linear operator $R(\lambda) : Lip_{x_0}(C, K) \rightarrow Lip_{x_0}(C, K)$ by

$$(R(\lambda)f)(x) = \int_0^\infty e^{-\lambda t} f(T(t)x) dt.$$

Then

$$\begin{aligned} |(R(\lambda)f)(x) - (R(\lambda)f)(y)| &= \left| \int_0^\infty e^{-\lambda t} (f(T(t)x) - f(T(t)y)) dt \right| \\ &\leq \int_0^\infty e^{-\lambda t} \|f\|_{Lip} \|T(t)\|_{Lip} \|x - y\| dt \\ &\leq M \|f\|_{Lip} \|x - y\| \int_0^\infty e^{-(\lambda - \omega)t} dt \\ &= \frac{M \|f\|_{Lip}}{\lambda - \omega} \|x - y\|. \end{aligned}$$

Hence $\|R(\lambda)f\|_{Lip} \leq M \|f\|_{Lip} / (\lambda - \omega)$ and so $\|R(\lambda)\| \leq M / (\lambda - \omega)$.

Let $f \in Lip_{x_0}(C, K)$ and $x \in C$. Then

$$\begin{aligned} &(R(\lambda)f)(T(t)x) - (R(\lambda)f)(x) \\ &= \int_0^\infty e^{-\lambda s} f(T(s+t)x) ds - \int_0^\infty e^{-\lambda s} f(T(s)x) ds \\ &= e^{\lambda t} \int_t^\infty e^{-\lambda s} f(T(s)x) ds - \int_0^\infty e^{-\lambda s} f(T(s)x) ds \\ &= (e^{\lambda t} - 1) \int_0^\infty e^{-\lambda s} f(T(s)x) ds \\ &\quad - e^{\lambda t} \int_0^t e^{-\lambda s} f(T(s)x) ds. \end{aligned}$$

Hence

$$\lim_{t \rightarrow 0^+} \frac{(R(\lambda)f)(T(t)x) - (R(\lambda)f)(x)}{t} = \lambda(R(\lambda)f)(x) - f(x)$$

for all $x \in C$. That is, $R(\lambda)f \in D(B)$ and $(\lambda I - B)R(\lambda)f = f$.

Let $f \in D(B) \cap Lip_{x_0}(C, K)$. Since $(Bf)(T(t)x) = \lim_{s \rightarrow 0^+} \frac{1}{s}(f(T(t+s)x) - f(T(t)x)) = \frac{d}{dt}f(T(t)x)$,

$$\begin{aligned} (R(\lambda)Bf)(x) &= \int_0^\infty e^{-\lambda t}(Bf)(T(t)x)dt \\ &= \int_0^\infty e^{-\lambda t} \frac{d}{dt}f(T(t)x)dt \\ &= \lambda \int_0^\infty e^{-\lambda t} f(T(t)x)dt - f(x) \\ &= \lambda(R(\lambda)f)(x) - f(x). \end{aligned}$$

So we have $R(\lambda)(\lambda I - B)f = f$ for all $f \in Lip_{x_0}(C, K) \cap D(B)$. Therefore we have

$$((\lambda I - B)^{-1}f)(x) = (R(\lambda)f)(x) = \int_0^\infty e^{-\lambda t} f(T(t)x)dt$$

for all $f \in Lip_{x_0}(C, K)$ and $x \in C$.

Let $f \in D(B) \cap Lip_{x_0}(C, K)$. Since $\lambda(\lambda I - B)^{-1}f = (\lambda I - B)^{-1}Bf + f$,

$$\begin{aligned} \|\lambda(\lambda I - B)^{-1}f - f\|_{Lip} &= \|(\lambda I - B)^{-1}Bf\|_{Lip} \\ &\leq \frac{M}{\lambda - \omega} \|Bf\|_{Lip}. \end{aligned}$$

Hence $\lim_{\lambda \rightarrow \infty} \lambda(\lambda I - B)^{-1}f = f$. □

LEMMA 2. *Let B be the Lie generator of Lipschitzian semigroup $\{T(t) : t \geq 0\}$ satisfying $\|T(t)\|_{Lip} \leq Me^{\omega t}$ for all $t \geq 0$. Let $R(\lambda) = (\lambda I - B)^{-1}$ for $\lambda > \omega$. Suppose that x_0 is the fixed point of $\{T(t) : t \geq 0\}$. Then for all $f \in Lip_{x_0}(C, K)$ and $x \in C$*

$$(R(\lambda)f)(T(h)x) - (R(\lambda)f)(x) = ((\lambda R(\lambda) - I)f_h)(x),$$

where $f_h \in Lip_{x_0}(C, K)$ is defined as $f_h(x) = \int_0^h f(T(t)x)dt$.

Proof. By integration by parts, we obtain

$$\begin{aligned}
 & ((\lambda R(\lambda) - I)f_h)(x) \\
 &= \lambda \int_0^\infty e^{-\lambda t} (f_h(T(t)x) - f_h(x)) dt \\
 &= \lambda \int_0^\infty e^{-\lambda t} \left(\int_0^h f(T(t+s)x) ds - \int_0^h f(T(s)x) ds \right) dt \\
 &= \lambda \int_0^\infty e^{-\lambda t} \left(\int_h^{t+h} f(T(s)x) ds - \int_0^t f(T(s)x) ds \right) dt \\
 &= \int_0^\infty e^{-\lambda t} (f(T(t+h)x) - f(T(t)x)) dt \\
 &= (R(\lambda)f)(T(h)x) - (R(\lambda)f)(x).
 \end{aligned}$$

□

Now we can prove the canonical exponential formula.

THEOREM 1. Let $\{T(t) : t \geq 0\}$ be a Lipschitzian semigroup on C satisfying $\|T(t)\|_{Lip} \leq Me^{\omega t}$ for all $t \geq 0$ and let B be its Lie generator. Suppose that $\{T(t) : t \geq 0\}$ has a fixed point $x_0 \in C$ and $Lip_{x_0}(C, K) \subset \overline{D(B)}$. Then for all $x \in C$ and $f \in Lip_{x_0}(C, K)$,

$$f(T(t)x) = \lim_{n \rightarrow \infty} \left((I - \frac{t}{n}B)^{-n} f \right) (x), \quad t \geq 0.$$

Proof. Let $\lambda > \omega$. Then $((\lambda I - B)^{-1}f)(x)$ is the Laplace transform of $f(T(t)x)$ and so we have [1, Theorem 1.5.1]

$$\frac{d^n}{d\lambda^n} ((\lambda I - B)^{-1}f)(x) = \int_0^\infty e^{-\lambda t} (-t)^n f(T(t)x) dt.$$

By induction on n , we obtain

$$\begin{aligned}
 & ((\lambda I - B)^{-n}f)(x) \\
 &= \int_0^\infty \dots \int_0^\infty e^{-\lambda(t_n + \dots + t_1)} f(T(t_n + \dots + t_1)x) dt_n \dots dt_1 \\
 &= \int_0^\infty e^{-\lambda t} \frac{t^{n-1}}{(n-1)!} f(T(t)x) dt
 \end{aligned}$$

Thus we have

$$((\lambda I - B)^{-(n+1)}f)(x) = \frac{(-1)^n}{n!} \frac{d^n}{d\lambda^n} ((\lambda I - B)^{-1}f)(x).$$

By the Post-Widder inversion formula,

$$\begin{aligned} f(T(t)x) &= \lim_{n \rightarrow \infty} (-1)^n \frac{1}{n!} \left(\frac{n}{t}\right)^{n+1} \frac{d^n}{d\lambda^n} ((\lambda I - B)^{-1}f)(x) \Big|_{\lambda = \frac{n}{t}} \\ &= \lim_{n \rightarrow \infty} \left((I - \frac{t}{n}B)^{-(n+1)} f \right)(x). \end{aligned}$$

By Lemma 1, $\lim_{n \rightarrow \infty} ((I - \frac{t}{n}B)^{-1}f)(x) = f(x)$ for all $f \in Lip_{x_0}(C, K) \cap D(B)$. Let $f \in Lip_{x_0}(C, K)$. Since $Lip_{x_0}(C, K) \subset \overline{D(B)}$, there exists $\{f_k\}$ in $Lip_{x_0}(C, K) \cap D(B)$ such that $\lim_{k \rightarrow \infty} f_k = f$. So

$$\begin{aligned} &|((I - \frac{t}{n}B)^{-1}f)(x) - f(x)| \\ &\leq |((I - \frac{t}{n}B)^{-1}f)(x) - ((I - \frac{t}{n}B)^{-1}f_k)(x)| \\ &\quad + |((I - \frac{t}{n}B)^{-1}f_k)(x) - f_k(x)| + |f_k(x) - f(x)| \\ &\leq (|(I - \frac{t}{n}B)^{-1}| + 1) \|f - f_k\|_{Lip} \|x - x_0\| \\ &\quad + |((I - \frac{t}{n}B)^{-1}f_k)(x) - f_k(x)|. \end{aligned}$$

Hence we obtain $\lim_{n \rightarrow \infty} ((I - \frac{t}{n}B)^{-1}f)(x) = f(x)$ for $f \in Lip_{x_0}(C, K)$ and so the result follows. \square

Before establishing the approximation theorem of Lipschitzian semi-groups, we present approximation theorem of Laplace transforms given in [5].

THEOREM 2. For each $m \in N$, let $f_m \in C([0, \infty), X)$ satisfying $\|f_m(t)\| \leq Me^{\omega t}$, $m \in N$, $t \geq 0$, and let $F_m(\lambda) = \int_0^\infty e^{-\lambda t} f_m(t) dt$, $\lambda > \omega$. Then the following assertions are equivalent.

- (i) $\{f_m : m \in N\}$ is equicontinuous at each point $t \in [0, \infty)$ and $\lim_{m \rightarrow \infty} F_m(\lambda)$ exists for $\lambda > \omega$.
- (ii) $\lim_{m \rightarrow \infty} f_m(t)$ exists for $t \geq 0$ and the convergence is uniform on bounded t -intervals.

THEOREM 3. Let each B_n be the Lie generator of Lipschitzian semi-group $\{T_n(t) : t \geq 0\}$ satisfying $\|T_n(t)\|_{Lip} \leq Me^{\omega t}$ for all $t \geq 0$. Let $R_n(\lambda) = (\lambda I - B_n)^{-1}$ for $\lambda > \omega$. Suppose that $\{T_n(t) : t \geq 0\}$ has a fixed point $x_0 \in C$ and $\lim_{n \rightarrow \infty} R_n(\lambda)f = R_0(\lambda)f$ for all $f \in Lip_{x_0}(C, K)$ and

$\lambda > \omega$. If $Lip_{x_0}(C, K) \subset \overline{D(B)}$, then

$$\lim_{n \rightarrow \infty} f(T_n(t)x) = f(T_0(t)x)$$

for all $f \in Lip_{x_0}(C, K)$ and $x \in C$, and the convergence is uniform on bounded t -intervals.

Proof. Let $f \in Lip_{x_0}(C, K)$ and $\lambda > \omega$. By Theorem 2, it is enough to show that $\{f(T_n(t)x)\}$ is equicontinuous. By Lemma 2, we have for $0 < s < t$

$$\begin{aligned} & |(R_0(\lambda)f)(T_n(t)x) - (R_0(\lambda)f)(T_n(s)x)| \\ & \leq |(R_0(\lambda)f)(T_n(t)x) - (R_n(\lambda)f)(T_n(t)x)| \\ & \quad + |(R_n(\lambda)f)(T_n(t)x) - (R_n(\lambda)f)(T_n(s)x)| \\ & \quad + |(R_n(\lambda)f)(T_n(s)x) - (R_0(\lambda)f)(T_n(s)x)| \\ & \leq \|R_0(\lambda)f - R_n(\lambda)f\|_{Lip} \|T_n(t)\|_{Lip} \|x - x_0\| \\ & \quad + \|R_n(\lambda)f - R_0(\lambda)f\|_{Lip} \|T_n(s)\|_{Lip} \|x - x_0\| \\ & \quad + |((\lambda R_n(\lambda) - I)f_t^{(n)})(x) - ((\lambda R_n(\lambda) - I)f_s^{(n)})(x)|, \end{aligned}$$

where $f_h^{(n)}(x) = \int_0^h f(T_n(t)x)dt$.

Note that

$$\begin{aligned} & |((\lambda R_n(\lambda) - I)f_t^{(n)})(x) - ((\lambda R_n(\lambda) - I)f_s^{(n)})(x)| \\ & = \left| \lambda \int_0^\infty e^{-\lambda r} \left(\int_s^t f(T_n(\alpha + r)x) d\alpha \right) dr - \int_s^t f(T(r)x) dr \right| \\ & \leq M e^{\omega t} \|f\|_{Lip} \|x - x_0\| \left(\frac{\lambda}{\lambda - \omega} + 1 \right) (t - s). \end{aligned}$$

Therefore we have

$$\begin{aligned} & |(R_0(\lambda)f)(T_n(t)x) - (R_0(\lambda)f)(T_n(s)x)| \\ & = M(e^{\omega t} + e^{\omega s}) \|x - x_0\| \|R_n(\lambda)f - R_0(\lambda)f\|_{Lip} \\ & \quad + \left(\frac{\lambda}{\lambda - \omega} + 1 \right) \|f\|_{Lip} M e^{\omega t} \|x - x_0\| (t - s) \end{aligned}$$

and so $\{(R(\lambda)f)(T_n(t)x)\}$ is equicontinuous at t .

Next we will show that $\{f(T(t)x)\}$ is equicontinuous at t . Let $f \in Lip_{x_0}(C, K) \cap D(B)$. Then

$$\begin{aligned} & |f(T_n(t)x) - f(T_n(s)x)| \\ & \leq |f(T_n(t)x) - (\lambda R_0(\lambda)f)(T_n(t)x)| \\ & \quad + \lambda |R(\lambda)f(T_n(t)x) - R(\lambda)f(T_n(s)x)| \\ & \quad + |(\lambda R_0(\lambda)f)(T_n(s)x) - f(T_n(s)x)|. \end{aligned}$$

Let $\epsilon > 0$ be given. By Lemma 1, there exists λ_1 such that

$$\begin{aligned} & |f(T_n(t)x) - (\lambda_1 R_0(\lambda_1)f)(T_n(t)x)| \\ & \quad + |(\lambda_1 R_0(\lambda_1)f)(T_n(s)x) - f(T_n(s)x)| < \frac{\epsilon}{2} \end{aligned}$$

By the equicontinuity of $\{R_0(\lambda)f(T_n(t)x)\}$, there exists $\delta > 0$ such that $|R_0(\lambda)f(T_n(t)x) - R_0(\lambda)f(T_n(s)x)| < \epsilon/(2\lambda_1)$ for $|s - t| < \delta$. Thus $|f(T_n(t)x) - f(T_n(s)x)| < \epsilon$ for $f \in Lip_{x_0}(C, K) \cap D(B)$.

Since $Lip_{x_0}(C, K) \subset D(B)$, $\{f(T_n(x))\}$ is equicontinuous at t for $f \in Lip_{x_0}(C, K)$. \square

References

- [1] W. Arendt, C. Batty, M. Heiber and F. Neubrander, *Vector-valued Laplace Transforms and Cauchy Problems*, Birkhäuser, 2001
- [2] J. R. Dorroh and J. W. Neuberger, *A Theory of Strongly Continuous Semigroups in terms of Lie Generator*, J. Funct. Anal., **136** **136** (1996), 114–126
- [3] J.A. Goldstein, *Semigroups of Linear Operators and Applications*, Oxford Univ. Press, 1985
- [4] J. Peng and Z. Xu, *A Novel Dual Approach to Nonlinear Semigroups of Lipschitz Operators*, Trans. Amer. Math. Soc., **357** (2004), 409–424
- [5] T.J. Xiao and J. Liang *Approximations of Laplace Transformations and Integrated Semigroups*, J. Funct. Anal., **172** (2000), 409–424

Department of Mathematics
Seoul women's University
Seoul 139-774, Korea
E-mail: younglee@swu.ac.kr